But 1t can be simplified by introducing the Maxwell stress tensor,
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are the same (8, = 8,y = 8§,; = 1) and zero otherwise (§xy = §x; = 8,; = 0). Thus
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Thus the force per unit volume (Eq. 8.18) can be written in the much simpler form
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The rotal force on the charges in V (Eq. 8.15) is evidently
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Compare to
That argument applies to any surface charge; in the particular case of a conductor, the
field is zero inside and (o /eg)h outside (Eq. 2.48), so the average is (0/2ep), and the force
per unit area is
|
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This amounts to an outward electrostatic pressure on the surface, tending to draw the
conductor into the field, regardless of the sign of . Expressing the pressure in terms of the
ficld just outside the surface,

p= %OEz. (2.52)



